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Answer either in Englishor in Assamese

1. Answer the following as directed : 1x10=10
EwffiqlT-{ffir\ryT5Rbsrfrsr,
(a) Is truth property of an argument?

qurqx@ s6f qs6{?

(b) The conclusion of an Inductive argum ent/
Deductive argument is always probable.

i ( Choose the correct answer )

,{h\fl6frF1lst?F 1pT /ftemflq-s Tk
)TnT )EK{ryo{T I

( \eqW"r<rRbfrs<r )

( Turn Ouer )



j ,,, ( 2 I

(c) An argument hab two premises/one
premise/no fixed number of premises.

( Choose the correct answer )

-qbr 1$< Kbt \m{Fr <qI ,/ .{br \fl{tir {u;r /
\ryT{Ff {FFI CS'r6{T frfta JK1fi q'R 

r

(lgqWTrRofre$ )

(d) Syllogism is an immediate deductive
inference/mediate deductive inference.

( Choose the correct answer )

illr ,qbr \ry{t{ir fieN{ qr{$q / qT$T frary
q{TFr 

r

(lsqWr<RBfre<r )

(e) Which term in a syllogism is present in both
the premises, but absent in the conclusion?

qltrFr c.s.|Tebt fi K$BT <FFrs b"fRq
qtrcr, frEFmtwlrytqfu qrcs?

(f) An A proposition can be converted simply.
( Write True or False )

,qbr A qD-[ q<aprc< qrrrST sRq tR r

('m.Fr fr frqr frql )

(.3. I

{s)

(h) Write the Greek symbol used to mean a
t{ull set'.

'fu; q(EF'Tqt<?E qr+qF q{r ft sQqebt

fr{'r I

(i) Symbolise the given proposition by means of
set notation :

ffiRs qu{ebr rTiqB rors.{ :rql{s s€ftEq6r
s{t:

All Philosophers are wise

rrs(FTIqr,.fr$q{ wtft

0 Two sets having the same member are

called 
( Fill in the blank )

2x5= 10

qrs rT?'rTr qfq1 fbf tTfEFT fi 6q'6t R I .
( <ttfibR13q s$ )

2. Answer the following :

wfuKqlr{B-sTfr{r:
' (a) Define Conversion by Negation.
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(e) write trvo differences between mediate and 
{t All that glitters is not gold' '/;i;:*k

immediate inference: 
mediate and 

*F.,il 
's'fiq' 

Rt cqn rq{l | fti 
i o}

rr{n qe \mil{a wsF{ *qs Kh "rFrhr fiu, | (ii) Anv student can do this. 
{q (*u,, r tl

fi 6sr6{r qER qqctr 3fu e6E , ti l\
3. Answer any fourof the following : 5x4=20 (iiil Virtuous alonq are happy. 

. 
$tl ,,'.'"''ii 

. 
' '

sre fr* fr mrcil uRtR E-s{ ft'{r : qr:fiE qqffilft , "" "'
(a) state any two differences between

Deductive and Inductive arguments.

fren-qw-+ 1p qrs qpF1.aTerg 1fu.{ rrq-{ fr
m'K{Tfbr ttr+tBrfl"f sil I

(b) what is a figure of a syllogism? Demonstrate
the figures of a syllogism with proper
symbolic form. 1+4-=5

{nTr?r {qqn {rc{ frr lrcqfielTq eqflqr
\ryFili1q rfq1s T1{?t q1q1-E6Qfi eqrf{ T-<il I

{ 4l

(b) Give example : Venn Diagram.
g- A.

EqR{q frTr : F{ Fq r

(c) What is the fallacy of four terms?

DY-fla 6qF \16{ ft r

(d) What is Infinite ser?

qqr nE&qkn ftr

(51

(c) What do you mean by oppositions of
propositions?

<D;Frffi{gt$Kqfr{qrr

(d) What is simplification of propositions?

Simpliff the following sentences into logical
form: 2+3=5

<FFr qqfu"q.r qrcr frr ffiRs rrcKrc?bt

roft{ \TroKIE ffifts{q TTt:

(e) State the special rules of the Fourth figure.

ryd tnutr{ ftffi frflr<rT Erfl{ TTI I

(t) What are subset and superset?

t"mqqtr qFF srR'{tEF {rc{ ftr

4. What is an argument? Explain the relation

between argument and argument forrn. 2+8=10

1p {16{ ftr 1$ qFP 1. T \ryl?FFFt ;nm rT-'$K-6

<il"fiI SEI I
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Or / qE<r

write an explanatory note about the reration
between truth and validity. l0
qEr.qr TT SqqqT {T-{ "r:"16 ebr 3rr"ffqET
@fr*r
what is square of opposition? Explain it withdiagrams. 

Z+g= 10
TD"K R6flf$om qqfu o.rs cqrcEr fiqqq<rF,'T s=rf I

Or / qrqql

Define proposition. write briefly about the
four-fold scheme of proposition. l0
TF{-{ q(wt frTr I Tu;rr rPffi- Rg.tsil{ rrTcn Wtrfu'n

Explain the Venn diagrammatic technique to test
the validity of syllogistic arguments with suitable
examples. l0
??rqE"rK rErrlg @fia qqnfr srcTilst sR 6<i-6{?K
qTrfrS 

1fuT t<ror sm"r sR< o[R, qil"t]T ril r

or / qqmr

Prove the validity of the following syllogistic
arguments with the help of Venn diagram : 5+5= l0
vEo fr{T rrrfro 1$nT1q tq{sr Cgz{trff }rq|Tg sNI"r

some philosophers are mathematicians

(b)

a

aa

( Continued" ) 22N *220S /4S5

7. What is a set? What is set membership?

Symbolise AEIO propositions by means of set

notations. 10

q${fu qtr{ ftr qiq&< ryi-ry E.FF 6El6E? qi$ \eg{

rTqTI\5 AEIO qD;r?F flfr-{r{ qqrN sFFr'[ T3T t

Or / tTqmf

S/hat is operation of sets? Explain different kinds

of operation of sets with examples. 10

qqqBE sbaT $rq fr Tm? G?r€q< qq{s frE{
eFfl?K q$(f,eq gfuTT <II".[T sEt I

***

(71

ftWn qr'fr-s q{ tFfs€
qspTrMq{ dies

.'. frWqMqrqrfrT

-5.

Atl humans are mammals

No humans are cats

No cats are mammals

rrFeFII {rTEq{ ury"fr-ft q<

6s,16{t qTqq-q{ ryfr
cs'rfil 6ryR;q-q{ ull"rR qq

6.

3s<il:

(a)

All scientists are mathematicians
.'. some scientists'are philosophers
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